

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

11/10/2024 10:30 AM | Install (Week 1) 11/13/2024 09:00 AM | Event Start (Week 1) 11/18/2024 11:00 AM | Install (Week 2) PO: Split Rock | 2 Week Rental Shipping Address: Santa Anita Race Track: 285 W Huntington Dr, Arcadia, CA 91007

ORDER #005662

Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

Order Date: October 10, 2024 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Draping 440' x 12'h Natural #2 No Install* cancelled by client after manufacturing for VIP Entrance & Exit	1	\$5,950.00	Т	\$5,950.0
	Drape 200' x 42"h Natural #2	1	\$750.00	Т	\$750.0
			Total General		\$6,700.0
VIP Entrance					
	Linen Valance 46' VIP Entrance Checkin	1	\$125.00	Т	\$125.0
	Draping - 240' x 10'h Rayon Linen : Taupe Client Chosen Fabric	1	\$4,800.00	Т	\$4,800.0
	Draping - 200' x 12'h Rayon Linen : Taupe Client Chosen Fabric	1	\$4,000.00	Т	\$4,000.0
			Total VIP Entra	nce	\$8,925.0
SnR Tent					
	Ceiling Drape - 30' x 30' Rayon Linen : Stone Client Chosen Fabric	1	\$3,150.00	Т	\$3,150.0
	Tent Perimeter Drape - 120' Rayon Linen : Stone Client Chosen Fabric	1	\$2,250.00	Т	\$2,250.0
			Total SnR T	ent	\$5,400.0
VIP Tent					
	Bali Dj Booth - Natural - 6ft	1	\$325.00	Т	\$650.0
	Bar - Rustic - 6ft For Check In	4	\$275.00	Т	\$2,200.0
	Bar - Rustic - 8ft	8	\$375.00	Т	\$6,000.0
	Phillia Back Bar, Black Metal W/ Wood	6	\$225.00	Т	\$2,700.0
	Back Bars - Additional Matching Sourced *	2	\$250.00	Т	\$1,000.0

Description		Qtty	Price		Total
	Chair - Chiavari - Natural w. Ivory Cushion	246	\$10.50	Т	\$5,166.00
	Lyle Wood Lounge Arm Chair - Natural ^{Wicker Chair}	20	\$120.00	Т	\$4,800.00
	Jayce Iron Chandelier - 6 Light - Black	6	\$375.00	Т	\$4,500.00
	Barstools - Chiavari - Natural w. Ivory Cushion	137	\$24.00	Т	\$6,576.00
	Barstools - Chiavari - Natural w. Ivory Cushion Arrival - 09/19	35	\$45.00	Т	\$1,575.00
	Cocktail Table - 30" Rnd - High	16	\$15.00	Т	\$480.00
	Banquet Table - 4ft w. Leg Extender 42" Height	35	\$15.00	Т	\$1,050.00
	Banquet Table - 6ft	41	\$15.00	Т	\$1,230.00
	Amalfi Table - 6' x 30" x 38"h To match King Tables Client confirmed Specs	4	\$200.00	Т	\$800.00
	Amalfi Farm Dining Table, 4' x 8' Natural Lightwood Finish Client Chosen	12	\$125.00	Т	\$3,000.00
	Stanchion, Chrome	32	\$17.50	Т	\$1,120.00
	Jute Rope - Hemp	31	\$25.00	Т	\$1,550.00
	Draping - 200' x 10'h Rayon Linen : Stone Client Chosen Fabric Cover Tent Back Wall	1	\$4,000.00	Т	\$4,000.00
	Draping - 204' x 30"h Rayon Linen : Stone Client Chosen Fabric Cover Guard Rail 3rd Level	1	\$1,020.00	Т	\$1,020.00
	Draping - 204' x 66"h Rayon Linen : Stone Client Chosen Fabric Cover Guard Rail 2nd Level	1	\$1,725.00	Т	\$1,725.00
	Draping - 204' x 42"h Rayon Linen : Stone Client Chosen Fabric Cover Guard Rail Top Level	1	\$1,425.00	Т	\$1,425.00
	Hedge Panel, 4' X 8' VIp Tent Check In	3	\$150.00	Т	\$900.00
			Total VIP Tent		\$53,467.00
Stock Pile					
	Chair - Chiavari - Natural w. Ivory Cushion	20	\$10.50	Т	\$420.00
	Banquet Table, 6ft	12	\$15.00	Т	\$360.00
			Total Stock	Pile	\$780.00
Riders Lounge	Wicker Lounge Chair	8	\$150.00	Т	\$2,400.00
	Dining Chair - Chiavari - Natural w. Ivory Cushion	102	\$10.50	Т	\$2,142.00
	Barstools - Chiavari - Natural w. Ivory Cushion	27	\$44.00	Т	\$2,376.00

Description		Qtty	Price		Total
	Banquet Table - 6ft	17	\$15.00	Т	\$510.00
	Banquet Table - 30" Rnd Cocktail Table	9	\$15.00	Т	\$270.00
	Banquet Table - 8ft	3	\$16.00	Т	\$96.00
	Leather Sofa - 8ft	2	\$350.00	Т	\$1,400.00
	Leather Sofa - 6ft	2	\$300.00	Т	\$1,200.00
			Total Riders Lou	nge	\$10,394.00
Judges Area (S	econdary Ring)				
	Banquet Table, 6ft	5	\$15.00	Т	\$150.00
	Office Chair - Brown	3	\$150.00	Т	\$450.00
		Total Judges A	rea (Secondary R	ing)	\$600.00
Judges Area (N	ledia Center)				
	Chair - Chiavari - Natural w. Ivory Cushion	24	\$10.50	Т	\$504.00
	Banquet Table, 6ft	6	\$14.00	Т	\$168.00
		Total Judges	Area (Media Cen	iter)	\$672.00
Judges Area					
	Office Chair - Brown	20	\$150.00	Т	\$3,000.00
	Banquet Table, 6ft	10	\$15.00	Т	\$300.00
			Total Judges Area		\$3,300.00
Infield					
	Patio Umbrella - Off White w. Base	60	\$75.00	Т	\$9,000.00
			Total Inf	îeld	\$9,000.00
FEI Steward Ter	nt (Stabling)				
	Banquet Table, 4ft	2	\$15.00	Т	\$60.00
	Chair - Chiavari - Natural w. Ivory Cushion	4	\$10.50	Т	\$84.00
		Total FEI Sto	eward Tent (Stabl	ing)	\$144.00
FEI Steward Ter	nt				
	Banquet Table, 4ft	1	\$15.00	Т	\$30.00
	Chair - Chiavari - Natural w. Ivory Cushion.	2	\$10.50	Т	\$42.00
		Т	otal FEI Steward	Fent	\$72.00
FEI Hospitality					
	Banquet Table, 8ft	2	\$16.00	Т	\$64.00

Description		Qtty	Price		Total
			Total FEI Hospita	ality	\$64.00
Vendor Village					
	White Stanchion	38	\$20.00	Т	\$1,520.00
	White Chain - 10ft Section	37	\$10.00	Т	\$740.00
	Spandex Line - 8ft - Black	30	\$28.50	Т	\$855.00
	Spandex Linen - 6ft - Black	8	\$28.50	Т	\$228.00
	Banquet Table - 8ft	30	\$16.00	Т	\$960.00
	Banquet Table - 6ft	8	\$15.00	Т	\$240.00
	Folding Chair - White	50	\$3.25	Т	\$325.00
			Total Vendor Vill	age	\$4,868.00
Saratoga Stalls					
	Ava Sofa, Cream 8ft	1	\$350.00	Т	\$700.00
	Ava Arm Chair, Cream	2	\$150.00	Т	\$600.00
	Antwan Coffee Table - Glass Top	1	\$150.00	Т	\$300.00
\leq	Zara Side Table - Gold	2	\$95.00	Т	\$380.00
			Total Saratoga St	alls	\$1,980.00
Additions					
	Patio Umbrella - Off White w. Base Delivered: 11/21	10	\$75.00	Т	\$750.00
			Total Additi	ons	\$750.00
Archer Roose B	ar				
	Los Angeles Bar, White - 6ft Install 11/18	1	\$275.00	Т	\$275.00
	Los Angeles Back Bar, White 4ft	1	\$175.00	Т	\$175.00
	Decal Logo - Archer Roose	1	\$75.00	Т	\$75.00
		T	otal Archer Roose	Bar	\$525.00

Description	Qtty	Price		Total
Delilah Bars				
Natural Wood Bars - 8ft Matching Existing ones Fabrication	4	\$450.00	Т	\$1,800.0
		Total Delilah B	ars	\$1,800.0
Santa Anita Park & Compton Junior Equestrians				
Los Angeles Bar - 4ft	2	\$200.00	Т	\$400.0
Decal Front Santa Anita Park	2	\$75.00	Т	\$150.0
Decal Front Compton Cowboys Equestrian Center	1	\$95.00	Т	\$95.0
Total Santa Anita Pa	rk & Compto	n Junior Equestri	ans	\$645.0
Services				
Trucking Fee	7	\$375.00	Т	\$2,625.0
Trucking Fee Deliah Bars	1	\$175.00		\$175.0
Install Crew 11/10	7	\$480.00		\$3,360.0
Install Crew 11/11	4	\$480.00		\$1,920.0
install Crew 11/12	6	\$480.00		\$2,880.0
Install Crew 11/13	9	\$280.00		\$2,520.0
Install Crew 11/14	7	\$480.00		\$3,360.0
Install Crew 11/15	3	\$420.00		\$1,260.0
Install Crew 11/16 Additional Drape Install After hours	2	\$240.00		\$480.0
Install Crew 11/19 Additional Drape	3	\$210.00		\$630.0
Delivery Extra Umbrellas 11/21	1	\$250.00		\$250.0
Install Crew 11/22 Install Delilah Bars + Extra Chairs After Hours	2	\$175.00		\$350.0
Strike Crew	12	\$540.00		\$6,480.0
Sourcing Fee (White Stanchions)	1	\$275.00		\$275.0
Sourcing Fee Extra Umbrellas - (18)	1	\$275.00		\$275.0
Sourcing Extra Umbrellas - (10)	1	\$275.00		\$275.0
Rush Fee - Manufacture Additional Drapes Back Wall Draping in VIP Tent	1	\$750.00		\$750.0
1.5% W.C Fee	1	\$2,229.87		\$2,229.8

Taxes :	\$10,707.55
Discounts:	(\$0.00)
Total:	\$150,888.42
Payments:	(\$0.00)
Balance:	\$150,888.42